C D E
- 130 = -250
EPAC1 [#® =] Z95 p-thr LI
- 72 -130 p-thr
- 130 -250
-72 -130
— 250 -250 RIM1
RIM1 [S =] =170 RiM- -770
_ 95 -130
I K
-130 -130
-95 | w— -95
PPKCe M- pPKCe 5, Rm1
-130 -130
-95 -95
PKCe |W.] PKCs | [M— 75 GAPDH
- 130 -130
L 95 -95
PKCa-pT E‘-n PKCa-pT =72
. - - 130 -130
-95 -95
PKCa-ps [l > pica-ps [we-—] o
> -130 ';30
PKCo [wswssm| ~95 PKCq | [Se—— _72
-72
-72 -72
B'tUbUIin | -55 B_tubu”n | -55
-43 -43

1T I
—— -250
-130

RIM1 -~ —
- -
GAPDH| [swwses o

-250
150 pThe [N
p-ser [
»
4 RM [
L

-250
-130

-250
-130

-250
-130




	页 1

